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SECTION - A/@US - A

T ;1. 36 I A 15 SATerge 3U-39 ¥, Selieh T 1 I A 15 | 20 eai H
R | |ty rfAard 2 | wedes W 03 () i wr e | (15x3=45)

Que. : 1. This question contains 15 very short type sub-questions. Answer each question
in maximum 15 to 20 words. All questions are compulsory. Each question
carries 03 (three) marks.

g (1.1) e qen e s ute’ g s g 7
What is the difference between “Gypsum and Plaster of Paris” ?

G (1.2) Ueh {od ICHM T T Fefl 39 T W 30 kg I9H W@ 9 @1 8 | Hell
% g fopem e v feraen € 7
A coolie is walking on a railway platform with a load of 30 kg on his head.
How much work is done by coolie ?

U9 (1.3) SoI-fi, St it T Wl et @ 7

Why water hyacinth floats on water ?

- [P.T.O.



T4 (1.4)

q: (1.5)

T¥H: (1.6)

WA (1.7)

9¥: (1.8)

T3 (1.9)

¥¥4: (1.10)

I (1.11)

T : (1.12)

T (1.13)
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<1 fgerrt, gt sin Yo 3 =1 v e Gor § | 78 3 2 B w@iiar g
A1 St <Y wTreker 0.62 2 | Xem % B St oY . R R 7

Two players, Sangeeta and Reshma play a tennis match. It is known
that the probability of Sangeeta winning the match is 0.62. What is the
probability of Reshma winning the match ?

e fRaeiia R 1 3R T %, 540 o1 | U SRR Y 3 209% @1 T AT |
et =1 s o o o 7

Selling price of toy car is Rs. 540. If the profit made by shopkeeper was
20%. What was the cost price of this toy ?

FHETH o ST o U WA 1 &%el 480 m? 8, 3 GHIR q=1ait & ofier
{1 15 B 3T ITH B T TR 1 Bl SRS 20 m R | GE HH ST
1 wrwITg T I |

The area of a trapezium shaped field is 480 m?, the distance between two
parallel sides is 15 m and one of the parallel side is 20 m. Find the length
of other parallel side.

qTS A RTR 7
What is the Pie Chart ?

U it wrEt a1 il @ 15 St e 2 ) 3 4 w02 H it forg g o g
4 ToRaHT | @ 7 (= 3.14)

The minute hand of a circular clock is 15 cm long. How far does the tip
of the minute hand more one hour ? (x = 3.14)

U siifess | Hfife & s fafiaw |

Write the name of parts of National Intellectual Property Rights.
RS S |

Transgenic Animals.

Stl Waie ;e s e |

Energy Management : Issues and Challenges.

T e Yeeeq § 41 A9 2 7
What do you mean by fecal sludge management ?

=T |

Bioremediation.
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YY: (1.14) A THIFWF |

Venkatraman Ramakrishnan.

9H: (1.15) 99 @A |

Biomagnification.

yeq : 2. ffeftaa § @ foedit 10 wvai & 30t stfisad 100 vrsst # faflaw) uedes uw 6 (B:)
37 1 2| (10x6=60)

Que. : 2. Write the answers of any ten of the following questions in maximum 100 words.
Each question carries 6 (six) marks.

T9H: (2.1) SR % GTHTY] HiSe &l qUH HIFAT |

Describe Bohr's model of an atom.

T (2.2) Wi I U 39 YN |
Sonic Boom and its effects.

T (2.3) 318 H &4 o4 =1 el 411 %A1 30 em, 40 cm, 50 cm B Y TR U
U9 ST S, @ T FH 69 1 Fed g8 Skl #7471 8 7

Three solid cubes of sides 30 cm, 40 cm and 50 cm respectively are
melted and made one cube. Find the total surface area of new cube.

I (2.4) HTSII-gar 1 fewefi fefan |

Write note on Mitochondria.

99: (2.5) Wk Hefl H Sl 1 fderd 1 frenfi 1 g wem #5 40% 2 | wE wh
HEA1 22 7 | Fe&1 H BEATS] 21 T 1 BT hl §&AT H I F1d T |
In a class, the percentage of girls is 40% of total number of students and

are 22 in number. Find the ratio of the number of girls to the number of
boys in the class.

U¥H: (2.6) Al 3T TEAT % 371 61 A1 9 | el 3okl ! eH TER d<eld &, dl Td &
o uftori 43 wen qe wen | 27 @i 2, 91 < s sen e 7
Sum of the digits of a two digit number is 9. When we interchange the

digits, it is found that the resulting new number is greater than the original
number by 27. What is the two digit number ?

Y (2.7) YR GAEH, 30 R UG I i @ |

Explain remote sensing, its types and uses.



e ;3.

Que. : 3.
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T (2.8) SfieTed $UH 18I & 7 36 H JHAH B & 7

What are fossil fuels ? What are their disadvantages ?

TH: (2.9) Sag IREd, 9% R UE FeHTeHesE 39Tl Fi auge |

Explain climate change, its causes and remedial measures.

YH: (2.10) TAeM s — 2 w fevgufi ffiau |

Write note on Mission Chandrayaan — 2.

T (2.11)  qatawer sear sifafiem - 1986 4 i@ fsivand angmed |

Explain salient features of Environment Protection Act — 1986.

T (2.12) e wEe W fewuft fafau |

Write note on Bt Crops.

36 U H 03 3U-T ¥, T U3 I 39T 1y 300 vreat F 27 ) |t v
rfrard €| sredens we # atiafien forered oft 81 sreaeff g ariafiess e 1 3w @
& SEHI T2 370 I F U AT | T® W 15 (TFE) S F R (3x15=45)

There are 03 sub-questions in this question, each has to be answered
in maximum 300 words. All questions are mandatory. There is
also an internal option in every question. The answer to the internal
option of the candidates is to be made explicitly before the answer.
Each question carries 15 (fifteen) marks.

T9: (3.1) (A) T wroft o1 samgdEes AegE e, A9 R T geet w5 Ies

ECIol g1 Raenfzat s afvem | gow @ wfeen Raemdh

LEREIn 15 21

NG 12 141

| EHT 8 1.7

GRED 13 1:4
sefieq 26 151

(EE T 16 311
e 10 2:5

o faenfeat it @@ = 100

(a) T afeen faenfeat 6 g forah & 7

(b) Tore @t W waiftrer qgen Raenfedt 4 s o ?
(c) TR ¥ gt it vrfiert gt (qew e wider) Raenfedt @ fran sfwa & 7

4

W




(B)

T9: (3.2) (A)

9%: (3.3) (A)

(B)
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Study the following table carefully and answer the questions given below :

Sports Total players percentage | Male : Female Players
Boxing 15 2
Chess 12 Y
Snooker 8 1:7
Swimming 13 1:4
Badminton 26 1:1
Cricket 16 3:1
Shooting 10 2:3

Total number of Players = 100
(a) What is the total number of female players ?
(b) In which sport maximum number of male players participated ?

(c) What is the percentage of male players participated in snooker to all
the players (male and female) ?

HAFT/OR
FaieH a9 1 8 ? i wwgfen e FRgieT @ e e i @ 7
FeITeH HPYFET 6 FIT IFTIANT &l Hehd & ¢
What is quantum supremacy ? How quantum computing is different

from traditional computing ? What can be the possible applications
of quantum computing ?

el % Sehfedd |rdl @ aane fEfd &1 avf F | v wias | 3
guraATet & faa=m i |

Discuss the current scenario of alternative sources of energy and give
an account of their future prospectives.

HYAT/OR

form ud e o T i s T § TSR SHEEy | 36
Jerew fafer |

Explain the applications of science and technology in social and
economic development. Give its some examples.

e Tl @ T B 7 3 P & A g drel s
1 I GEY § Ui H |
What are endocrine glands ? Describe in brief the functions of
hormones secreted by these glands.

HAAUGT/OR

et Feaa R T @ S 110 2 s o) ferret T ot fereTor R A A
A AT & 7 B 37O Te A1 afEer § S A S 1 el SAufre
gt sn 8 SR g Hehd © 7

What are the impediments in disposing huge quantities of discarded
solid wastes which are continuously being generated ? How do we
remove safely the toxic wastes that have been accumulating in our
habitable environment ?

-5
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SECTION - B/@vg ~ &

9 9% 1 15 SfeTeia 39-uw €, welien W w1 39 ST 15 § 20 wsa i

&1 8 | At e arfrard € | wees wv 03 () s F R | (15x3=45)

1. This question contains 15 very short type sub-questions. Answer each question

in maximum 15 to 20 words. All questions are compulsory. Each question
carries 03 (three) marks.

S (1.1)

9 (1.2)

I : (1.3)

¥ (1.4)

¥ (1.5)

¥¥: (1.6)

¥H: (1.7)

S34: (1.8)

¥9: (1.9)

T : (1.10)

T9H: (1.11)

T : (1.12)

9¥: (1.13)

I % foa T 3 2011 ) SO % SIER FrEEn T w9 2 7

In which State of India has the lowest literacy rate according to 2011
census ?

G.D.R. & 1 Hfiyyrg 2 7
What do you mean by G.D.R. ?

"RYAAH T Yo W 319 1 T § 7

What do you mean by ‘Minimum Support Price’ ?

I il Ut a1y sreferaen & forg & 1 feen wa@ s 2 7

Which sector of economy contributes the highest share in National Income
of India ?

HAYeHA | 3T H1 GHHA & 7

What do you mean by devaluation ?

e (TRIPS) TR 7
What is TRIPS ?

TS 211 1 Ao Y fora faftat 2 7

How many measuring methods of National Income are there ?

Hehel Bl IeUTE § SATYeh! 41 SV 2 7
What do you mean by Gross Domestic Product ?

W 39 gfvear Frfwn a7 2 ?

What is the Start Up India Programme ?

Yo SIS o & 7

What is Disguised Unemployment ?

giara ver (aut wiF) Fr 7
What is Buffer Stock ?

"Yft-3eafer svguTa’ & st F SwE R 7
What do you mean by ‘Capital-Output Ratio’ ?

CIRE RN
What is the relative poverty ?
_6.
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T (1.14) 3Ra A AR ?
What is UDITA Yojana ?
9 (1.15) HRA H A9 KRS ATE argdiaiis el 7 fea g 7

Where is National Institute of Virology is located in India ?

g ;2. frferfaa® & feaeet 10 weal o 3w siftrsran 100 vrsai # ferfian | wedes v 6 (B:)
3Tt & 8| (10x6=60)
Que. : 2. Write the answers of any ten of the following questions in maximum 100 words.
Each question carries 6 (six) marks.

TH: (2.1) “SATCAMR R AEE % wE el & i | 9aTse |
Explain the important pillars of ‘Atmanirbhar Bharat Abhiyan’.

TH: (2.2) HeA Yo o fafimior & % fosma 1 enumeg &= 1 Hl & Hron o oo
Hif |

State the reasons for the lack of infrastructure for the growth of manufacturing
sector in Madhya Pradesh.

T (2.3) ‘AvedioRor & R referaeen  grdofiaar § 3fE g8 ® | 36 T 7 o faem
fetfe |

‘Globalization leads to sustainability in the Indian Economy.’ State your
views in this regard.

U9 (2.4) U ™ A@ieh 1 Haed 9dsy |
Explain the importance of National Income Accounting.

Y (2.5) WA H Tt 3 Ao /g dgereR afufa i gfafy tosm afif @ e e g ?
How is the methodology followed by the Rangarajan Committee different
from that of the Tendulkar Committee in measuring poverty in India ?

TE: (2.6) BT & g0 T AT L §U UTHIU 01 T 38 TWTE 15y |
Examine the ‘Service Area Approach’ in terms of rural credit.

T (2.7) WHa § i3 vewr g F=0 a8 ® 7 e A |
Why is Monetary Transmission not effective in India ? Examine.

v (2.8) ‘T anifelen &’ st faeem, fafimin e fafa g uw ssm e 2 | faemmn
Hifs |

‘Special Economic Zones’ are an engine of industrial development,
manufacturing and exports.” Explain.

TH: (2.9) HEA W o Hfy fqepra # et it yfirent i same Fifew |

Explain the role of Horticulture in agricultural development of Madhya
Pradesh.
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SE: (2.10) &Y 2020-21 % W & fonrel 9 o enel Hie] 3cq1e ol Wl A
I |
Explain the trends of GDP of India in first two quarters of the year 2020-21.

T (2.11) WET WR % FiY &7 § g FASi] i sarean FiR |

State the major weaknesses of Madhya Pradesh in Agricultural Sector.

S: (2.12) g ferstelt % w0 o wford & et o e gan @ 1wy |
‘Subsidy in the form of free electricity has led to depletion of ground water.’
Explain it.

. 39 99 H 03 3Y-TY ¥, Tk YT 1 IaT IUSHan 300 YAl 7 21 21 weft W

AT €| Sredren e § ariafr ke it 21 sraref! R stiafes Recs s s @

& G T Ioeid I % HE AaTda: | e YT 15 (=) 3 F1 2| (3x15=45)
. There are 03 sub-questions in this question, each has to be answered in maximum

300 words. All questions are mandatory. There is also an internal option in

every question. The answer to the internal option of the candidates is to be made

explicitly before the answer. Each question carries 15 (fifteen) marks.

TH: (3.1) WA Srefeareyn  wreste & i St i e wd Freaf g
I |

Evaluate the role and performance of Public Sector Enterprises in the
Indian economy.

HAAT/OR
U wrer gean Afafam, 2013 i foammn Hifo |

Explain the National Food Security Act, 2013.

T (3.2) W H ATHIO TR St SRS i Wepf ud FRon o1 Ioorg HIfvT |

Explain the nature and causes of rural and urban unemployment in India.
HYFT/OR
d # el fidl & ganl i suafeuat si frwaaett o1 figero Hift |

Analyse the achievement and failures of second generation reforms in India.

S¥: (3.3) WA HIHN I Heh 39 308A1 FrlshA & d8d HIvel [hE & SraumEi 6
fadsr =t |

Explain the provisions of skill development under Make in India Programme
taken by Government of India.

HAYUAT/OR
TRIeft ST 171 < ST 2B o o) 3 e vt 1T 3 e Sy
&l Wil & ¢ 3791 el ke o |
How Universal Basic Income may be a tool of reducing income
inequality and poverty ? Give your opinion.

TVAS




